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BIOLOGY

yprion ghowing the relative contribution of different s »
orrect ¢

i Identify the H“L‘

to the total glob e

(AY CFC-20%, C0,-00%:

(B) CFC-6
C-14%, CO,-0L

» N, 0-6%,

0/,
0% methane-2070 NyO- 1 40,
04, CO,-0070,

‘ ‘ )% T\'h?lhx\l\c‘(’n/“* ND()‘?.()%_

Dy

(C) CF 0 r\,wllml\c-?.()“/n. N,0-6%.

: .~ 1404 CO,-60°
(D) CFC-14%, CO0

aving bilobeq dithecoug

0 stamens cach anther. If each microsporangium has

2. - M Nas ‘ v .( i 3
.i\}:]\\;l\\l:ll::(::l\k‘l‘ cells, how many pollen graing yyyq be produced by the flower ?
S polie 5
(A) 400 (B) 800 (€) 1600 1) 200 -
3. During transcription the DNA SHEANE WIS < 5f polarity of the Structural gene always acts

as a template because

(A) Enzyme DNA dependent RNA polymerase always catalyse the polymerisation in
3' — 5' direction.

(B) Enzyme DNA dependent RNA polymerase always catalyse polymerisation in both the
directions.

(€) Nucleotides of DNA strand with 5' — 3" are transferred to mRNA.

(D) Enzyme DNA dependent RNA polymerase always catalyse the polymerisation in
5'— 3' direction.

4. According to David Tilman’s long term ccosystem experiments, the total biomass in plots
with more species shows,

(#4) High variation from year-to-year. -
(B) Average variation from year-to-year.
(C) No variation from year-to-year.

(D) Less variation from year-to-year.

5, I'he toxic heavy metalg from various industries which cause water pollution, normally have

a density
(A) more than 15 g/em? (B) more than 7.5 g/cm3
(¢} more than 12.5 g/em? - (D) more than 5 g/em?

e e e e —
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6. Find out the correct ma i
Disease patho8¢! Main organ affected
Bactert? Lungs i

(A) Typhoid

ound woy ‘ ,
‘B) Filariasis Sommon! Worm  Small intestine
( » AT TADIe

(

¢ o 0'/,0{] .4l
(C)  Dysentery Prot Liver

. S Qi )
(D) Ringworm Fungt Skin

olumns and choose the correct option :
Column-11

p.  Malignant malaria

~

Match the following ¢
Column-I
Haemophilus influenzac

l.

). Entamoeba histolytica q.  Elephantiasis

3. Plasmodium falciparum T Pneumonia

4. Wuchereria bancrofti s.  Amoebiasis
1 2 3 4

@ r s p 9

B s p a T

S r p q S

@ q r s P

etic engineering, identify those which are

8.  From the following tools / techniques of gen s
1Is and choose the correct option

required for cloning a bacterial gene in animal ce
II. Ligase

IV. Microinjection

I. Endonuclease
III. A. tumefaciens

V. Gene gun VI. Lysozyme

VIIL. Cellulase VIIL. Electrophoresis

X)) LIL 1V, VI, VI « (B) L, I, 1V, V, VI
(C) 11, 111, 1V, VI, VII, VIII (D) 11, 111, V, VII, VIII

9.  Identify the 1incon*ect statement regarding the flow of energy between various components
the food chain.
(A) Energy flow is unidirectional.
("B) Green plants capture about 10% of the solar energy that falls on leaves
() Each trophic level loses some energy as heat to the environment. - |

(D) The amount of energy available at each trophi '
availe trophic lev i h
phic level is 10% of previous trophic level

S —
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\cmhcrs Of plagy, !

" d Yh ;
Rty the ’,“.rctmn - (*llﬂlnlh()g a
1 q
10 tnre cel1s P on and > i € Specializeq to
}L.\ Nw nx'x‘f‘”m“ ]i\("‘ ( {ion De”"rm
(,A’ it "..‘i“ at .1 ‘n‘ .cg‘lln‘
(0 nm@"”“'“ and U% 7 yeutation
seniit
(C) Respi® latio! and
" B
D) Qsmott ‘plant hc](\l\ 7
- »nl"'“ 5 10 Potat, fami
o the flord € wpll
11 ldenni) e ( ‘:\10'“: LB) ({‘a 4
A 3K (o Fokn AL, G(J)
i
Aoyt ! (D) ( o
Ky oA P K G
\( \ \"" L“ t l ) '(S) S’ Q(Z)
. L is present by
cular ¢ bit” Ween he yle
12.  When the V& M and Phloem then th
¢ vasculy

alled, (B) Endarch

bundle 18 €
(A) Open:

13. The function of‘ \
(A) Grinding of dec
\ ation
B) 1 ransportatiol . s - |
(D, ffecttve area O sOrption - —

©) Increasing the €
(€) Increasing the*==",
(D) Grinding of <oil particles

14. Select the correctly matched pair of organisms with their order,

(A) Musa, domestica Diptera
(B)  Homo, sapiens Po'ales
Primata

(C)  Mangifera, indica
(D) Triticum, aestivum Sapindales «

15, Match the column-1 with column-II and choose the correct option from the following :

Column-I (Plant groups) Column-II (Examples)
I, Bryophyta p. Pinus
2. Gymnosperm q. Adiantum
R /}‘l gac r.  Sphagnum
4 Pteridophyta
s.  Ectocarpus

(&) r P

( B) q p (j ‘
€) q 5 p I‘
” )) S ¢

g
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16,

17,

18.

19,

20.

21.

. ,V ) 4{ ko0 ;,/", U ]—L
MRS A . Q} \ f\/ oo

¢ of synapsed homologous chromosomes is called,

yal
The complex formed Y ml pivalent * (C) Univalent (D) Pentavalent
(A) Triad
an-11 Seleet the option with correct combination.
Mateh column-1 with colut -1l
Column-1 Column- , . b
‘ . : Two molecules MOve in the same direction across the membrane.
1. Ty M p
e al solution is more concentrated than cell sap.

2. Capillarity 4. Extern
N ‘ loss in the form of droplets.
3. Symport r. Water
A Constin < Ability of water to rise in thin tubes.

YUTat bl g
(A) 1-q, 2.1, 3-p. 48
\B\ l-q_ 2-p. 3-8, 4-r
L) 1-q, 2-s, 3-p, 4-1 ¢
(D) 1-q, 2-s, 3-r,4-p
Toxicity of which micronutrient induces deficiency of iron, magnesium and calcium ?
(A) Molybdenum (B) Manganese » (C) Boron (D) Zinc
Considering the stroke volume of an adult healthy human being is 70 mL, identify the
cardiac output in one hour from the following : |
(A) 30.24 Lithour ~ (BY302.4 Lithour  (C) 50.40 Lit/hour (D) 504.0 Lit/hour
Function of contractile vacuole in Amocba is
(A) Digestion and respiration MB) Osmoregulation and movements -
(C) Digestion and excretion (D) Excretion and osmoregulation
Match List-I and List-II with respect to proteins and their functions and select the correct
option. ‘

List-I List-IT

] Collagen  p.  Fights infectious agents
2 Trypsin q. Hormone
3. Insulin r.  Enzyme
4 Antibody 5. Intercellular ground substance

(A) 1-s,2-q, 3-1,4-p
(B) 1-s,2-1,3-q,4-p"
(C) 1-s,2-p, 3-1,4-p
(D) 1-q, 2-1, 3-q, 4-s
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1 Are transmi
ar drum ansmitted through ear ossicles to
(B) Tectorial membrane

22 . « {
- The vibrations from the

(A) Oval window

- (D) Coc

(C) Auditory nerves ) Cochlea
‘ ot
<}, Bamboo species flowers

(B) Once in lifetime
(D) Every year

(A) Once in 12 years
{ yoars

(C) Twice in 5010
2 pfitious buds arise {r
4. In Bryophylhum, the nd\u\llﬂlt ; 1s¢ from
(A) Notches in the jeaf margin (B) Shoot apex
(D) Leaf axil

(C) Leat base
ormed by fusion of

osperm nucleus 13 f

amete
and male gamete

(C) Two polar nuclei and two male gametes
and one male gamete «

(DY “Two polar nuclei
option showing the correct labelling for p, q, r and s with reference to

p. .

25.  Primary end
(A) Ovum and male &
(B) One polar nucleus

26. Identify the
uman heart.

conducting system of the

©w = o4

(I/;\ ) p-AVN, g-SAN, r-Interventricular septum, s-Bundle of His
(( ‘.) p-Bundle of HIS, q-SAN, r-Interventricular septum, s-AVN
(r) p- Interventricular septum, q-AVN, r-Bundle of His, s-SAN
D) p-SAN, g- : . .
A1) p-5AN, g-AVN, r-Bundle of His, s-Interventricular septum

Atrial Natriniret: y
Atrial Natriuretic Factor (ANF) acts as a
(A) Promote ni o

| Leron Renin-Angiotensin mechanism

res s

(B) Vasoconstricter -
(C) Hypertension indycer

(I-“) ( J“ ll () [ 4
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2R 4y ith reference 1o ferrale r‘.s-,f,‘.,‘f‘,,jgg‘ggg “.f,ﬁt(‘m

B . v 3 !;!1-’!"“ A~ ‘ i B ol s Lina

Ltk the followinl il et of hymen is wot & reliable inedieatar of viTginity or
3 Mt

\'H.

tement 1. The presemis

wevonl experend

TR determined by tive father and nol () the mother.

ALY i 1
vosin tht '551“ g
i

j Satc!

3 Ml"
Stavement 3. The wed MR LL |
wion !

a
L hoose thie corredt O STRAL 2 Ate correct

" s < ] ‘
WA R the Stiremeit | ! yeit 218 correct

;o Sratett

(Y Starement 1 1s wWivni ent 2 are wrong

it | and .\mh'm

LU) YRath the Stateme enl 218 Wrong,

. o Katen
UM Starement |k corredt i
.||||ll'.

Vs and vas deferens

Q qu (I
3 MO din (s

i, (‘]WIQ‘|C|\ n
qem
ididymis and vas deferens

jidymis and seminal vesicle

Che minle xen neces
AY Rere teviis ¢y CH1C [

(A) Rete testis, urethi . inal vesicle and vas deferens

(B) Rete tostis, vasa efferentiy

k"(‘"‘ll ‘

(L»\\ Rete testis, vasa ('ﬂ .
rentia, epit

(D) Rete testis, vasa efl¢

30.  With reference to human sperm match the List-T with List-11.
List-1 List-11
1. Head p. F illed with ‘cnzymc |
2. AcCrosome q. Contains m'll.OL‘hOndrm
3. Middle piece T Sperm mouluy.
4. Tail . Contains haploid nucleus

: - following :
Choose the correct option from the following

(A) 1-s,2-r,3-p,4-q

(B) 1-q, 2-s, 3-r,4-p

(C) 1-r,2-q, 3-5,4-p

(D) 1-s, 2-p, 3-q, 4-T «
31.  Which pair of the following cells in the embryo sac are destined to change their ploidy after
fertilization ?
(A) Synergids and egg cell
(C) Egg cell and central cell

(B) Central cell and antipodals
(D) Antipodals and synergids *

39, In the female reproductive system, a tiny finger like structure which lies at the upper
junction of the (wo labia minora above the urethral opening is called
(A) Mons pubis (B) Clitoris (C) Vagina <)) Hymen »
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k% A } JONC rele 1S 1NE UL 18 ( o1t
¢ ™ g o g E\ i T5 (Y £ i 2( "
\1 L"\\;lh} ¢ u‘ ,'vk, ) : im"l“ loop (Cy lmp!.mt (pP) LNG )
{AY Multifoad 372 »
. afe durin
R¥ NATT .‘]'“x(‘t\ safe ( R
< MTPs are congidered retd ancy
& of pregnati=?
(A) 24 weeks n“i“(.p,mm'\- ('” 180 dﬂ}?‘- f I :
o) | ‘ (D) Second trimeste
(LY First trimester -~
‘ wents 18 correct ?
38 Which of the following statemen . i
A) CI - hole set of chromosomes is called ancuploidy.
(A) Change in whotts e P oy
B) Sickle cell anaemia 15 8 quantitative problem.
(B) Sickle cell A0 ia may transmit the disease 10 gons.*
(C) Female carrier for nacmopht!! . . kS
: ' aob ,
(D) Thalassemia is a qualitative problem
W clope
36. ‘Gene-mapping’ technology Was devElop=ciny I (D) Tschermak
(A) Correns (B) Sturtvent (© Mendel
37.  Find the co~ect statement. . p
: : . ultiple
(1) Generally a genc regulates a trait, but sometimes one gene has ?ffeCt Or;lnl] pd o,
(2) The trait AB-blood group of man is regulated by on¢ dominant allele and another
; it is co-dominant,
recessive allele. Hence 1t 15 €0 do
(A) Statement (2) is correct. }/(’B) Both Statements () and (2) are correct.
(C) Both the Statements are wrong. (D) Statement (1) is correct.
38. From the following table, select the option that correctly characterizes various phases of
menstrual cycle :
Menstruation phase Follicular phase Luteal phase
(A) Menses Developing corpus luteum Follicle maturation
(B) Menses L.H. Surge Regeneration of
i endometrium
(C) Regeneration of High level of progesterone Developing corpus
endometrium luteum
(D) Matured follicle Regression of corpus luteum  Ovulation
39.  Which of the following is abbreviated as ZIFT ?
(A) /‘,/;u)!r Inter Fallopian Tr .
l anster (B) Zygote Intra Fallopian Tube

(C) Zygote Inter Fallopian Tube

' (D) Zygote Intra Fallopian Transfer
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A ino acid restdues

| Decause they are vieh in PR

W0 i ChaTged jalanine
) & oy wviglat
““"x‘ui WM e BIE M frive (1) :‘\T)ili“"‘.”*‘ n(h" ;““"‘) ¢
o IRl M | ' / y
% ; Alanine
~A) \Ei e nmil |t VAT (1Y) Arginme :"“% "l
A \"f inine and |~:,.|§!i‘
& ; « heoeoatlse
R IR onic it they are split genes becat d by [ntrons.
t \tl TN RIT “ ' re in((‘n"]r\tﬁd l')
VO e goenet pie n ( \ %¥ONs arc ol
\ ‘ v, : A 4 @ 2 nn!}'.
YAY they cantain Tntron® s B ith Mutons. (D) they contain PASS
) Intrans e illll'l‘”’ﬂml v
42 - dated by
he 1 g , 1ol was eluctt ' ; Chase
i fe-Operon mod | Jnques Monad (13) Hershey and >
e o) Ok AN NS (D) Watson and Cric
\ lacab and Crick
- A g v 1 1 2
43, Which of these is NOT an example 101 /\dnptni}r;u:)l;mm\ ! R——
SUBISANER S (B) Placental 1m L
(A) -\“\( i arcupials A ¥ -
Australian marsuph Yarwin’s f wches
\ arwin s I
() Long-necked Giraffe D)1
: : ; .quilibri the frequency of
4, bbits showing Hardy-Weinberg qu“l‘b“"fm'_ 1ol 9,
By terozygous individuals

ln d 2 A ] ) N
& population of 800 1 P o A
recessive individuals was 0.10. What is the frequency of he

p) : D) 0.4
(A) 0.48 (B) 0.84 (L) 0.36 (D)

45, In male heterogametic type of SeX determination
(A) Female parent produces dissimilar gametes.
8) Male parent produces dissimilar gametes.
(C) Males do not produce gametes.

(D) Male parent produces similar gametes.

46.  In one of the hybridisation experiments, a homozygous dominant parent and a homozygous

recessive parent are crossed for a trait, (Plant shows Mendelian inheritance pattern)

(A) Dominant parent trait appears in both F,; & F, generations, recessive parent trait appears
in only I, generation.

(B) Dominant parent trait appears in F, generation and recessive parent trait appears in F,
and I, generations,

(C) Dominant parent trait appears in F, generation and recessive parent trait appears only in
' generation.

A7) Dominant parent trait appears in I, generation and recessive parent trait appears in F,

generation.
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: taarC agls
l”\""'”ﬂ ”]‘-(.(.‘ p(. )

S is resistant to which of the fol
i borer

w11
(13) Shoot & Fru

47,
D) Aphids -

The varietv of Okra, Pusd San

(A) Jassids

(C) Cereal leaf beetle
not true 7

pich AMONg the following 18

1
- uperior genes. .

48, |
+ With respect 0 lnl\\‘ccdlm.‘.. W
A1 B

'8 desirable genes.

(A) It helps in qccumulation !

= ! :
(B) It helps in climination ok o inan animal.
(C) It helps to evolve & pure  ygosity- s

: o« homO%4) =
(DY Inbreeding decrease® he¢ | |
jeties of T1€€ developed in

49. Identi he foll i of better yielding semi dwarf var
. ldentify from the follo
1y (B) Jaya and Kalyan S
(A) Sonalika and Ratn@ i
EC )) 1{?1]33; ;;:,1 an alika (D)Jaya and R

wing a pa
ona

r;ogate mother in which of the

gs are transferred into Su
d stage (D) -4 celled stage

" o A5

50. In MoET technique femllzcd g
following stage ? 032 celle
(A) 8-16 celled st ) 8=

d stage °(C) 16-32 celle

+4D) Bacterium

els of lakes in their
ues were found as

. .« ripened bY
51. Rogquefort cheese 13 rIP(B) Virus (C) Yeast

(A) Fungi

E)

ollution lev

ce project to find out the p
BOD val

q scien
amples, the

: g et ore assigned p
2. Four students W ere assig : ihe quallty of water

surrounding. After analysih

follows :
Which among
(A) 0.06 mg/L

vater samples 1s highly polluted ?

(C) 0.16 mg/L (D) 0.6 mg/L

the following "
2 J
4B) 0 mg/L
The toxic substance ‘haemozoin’ responsible for high fever and chill, is released in which of

th

s

the following diseases !
(A) Preumonia  ¢BT Malaria (C) Typhoid (D) Dengue

ymptoms of pneumonia.
congestion and discharge, cough, sore throat, headache

tion, Abdominal pain, cramps, blood clots
akness, stomach pain, loss of appetite
fever. chills, cough, headache -

Senltv in hreathis
[l ,;"1],;;]<, fe
15 L )

b ——
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' Selec , 2
Select the comect statement from the following :
otors associated with r-DNA technology.

(A) Thow L
There are no risk fi ‘
heatingt Which is used to separate both the strands of gega .

Ot

&B) The first step in PCR I8

imﬂ‘(\\!. .
() DNA from one organish! will notband to DNA from other organisit.
. h .
only on animals and not yet successfully used on plants,

I) ) ~ ' g i AT 5
\D) Genetic engineering W ork
Jent with reference to Kangaroo rat.

.
Choose the incorrect staten . . '
through internal fat oxidation.

cements

(A) meets its water requi -
o remove excretory products,

(B) uses minimal water !
A8) eliminates dilute urine:* -
. ) , ot
(D) found in North American

/

ol Generally, bears avoid W inter by undergoing

&) Hibernation® B Aestivation (C) Migration (D) Diapause

58.  Match Column-I with Column-11. Select the option with correct combination.
Column-I Column-II
Mass of living material at a given time.

Standing state P ' . .
Pioneer species, 4 Amount of nutrients in the soil at a given time.

Detritivores . T
. Standing crop S
(A) 1-p, 2-r, 3-5,4-q
(B) 1-q, 2-1, 3-, 4-p
(C) 1-p, 2-s, 3-1,4q
(D) 1-g, 2-1, 3-p, 4-

Species that invade a bare area.
Breakdown detritus into smaller particles.

B WO~

59, PCR is used for
(A) DNA ligation
() DNA amplification ¢

(B) DNA digestion
(D) DNA isolation

Which of these 1s NOT a method to make host cells ‘competent’ to take up DNA ?

60.
¥ Elutio 6175k
(47 Elution (B) Biolistics
AR T ([T R -
(C) 1 [ disarmed pathogen vectors (D) Micro-injection
/‘7 -
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